
TUTORIAL 4 
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3) ΝΔΟ η ακολουθία { }nx  στο 3ℜ   όπου ( )1, 2, 3,, ,n n n nx x x x=  με 
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5) ΝΒ τo όριo της ακολουθίας { }nx  στο 2ℜ   όπου ( )1, 2,,n n nx x x=  με 
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6) Να εξετάσετε ως προς την σύγκλιση την ακολουθία { }nx  στο 3ℜ   όπου ( )1, 2, 3,, ,n n n nx x x x=  με 
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7) ΝΒ τo όριo της ακολουθίας { }nx  στο 2ℜ   όπου ( )1, 2,,n n nx x x=  με 
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8) ΝΒ τo όριo της ακολουθίας { }nx  στο 2ℜ   όπου ( )1, 2,,n n nx x x=  με 
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9) ΝΒ τo όριo της ακολουθίας { }nx  στο 2ℜ   όπου ( )1, 2,,n n nx x x=  με 
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10) ΝΒ τo όριo της ακολουθίας { }nx  στο 2ℜ   όπου ( )1, 2,,n n nx x x=  με 
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